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Zadatak 26. Točka (1, 2) leži na hiperboli kojoj su pravci y = ±1
2

x asimptote. Odredi

jednadžbu hiperbole.

Rješenje.

T(1, 2)

y = ±12x (asimptota y = ±b
a

x)

=⇒ b
a

=
1
2
, 2b = a

T(1, 2) ∈ H . . . b2 − 4 · 4b2 = 4b2 · b2

− 15b2 = 4b4 nema rješenja

Pogledajmo hiperbolu −b2x2 + a2y2 = a2b2 :

− b2 + 4a2 = a2b2

− b2 + 16b2 = 4b4

15b2 = 4b4
/

: 4b2

b2 =
15
4

=⇒ b =
√

15
2

a = 2 · b = 2 ·
√

15
2

=⇒ a =
√

15

H . . . − 15
4

x2 + 15y2 =
15
4

· 15

/
· 4

15

−x2 + 4y2 = 15
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